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Paper : DSE-A-2
(Normative and Metaethics)

Full Marks : 65
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[ English Version ]
The figures in the margin indicate full marks.
1. Choose the correct option : (any fen) : 110
(a) Which one is the object of discussion of ethics?
(i) Social system (i) Human conduct
(i) Duty (iv) Reason.
(b) Which of the following concepts, according to Moore, can be defined?
(i) Yellow (i) Horse
(iii) Good (iv) All of these.
(c) Which one of the following is not considered as the postulate of morality?
() Personality (ii) Reason
(i) Freedom of will (iv) Intuition.
(d) “The meaning of a moral statement is prescriptive.”— Whose opinion is this?
(i) Kant (i) Ayer
(i) Moore (iv) Hare.
(e) In Aristotle’s view, the virtues are—
(i) innate (i) acquired through habit
(i) given by God (iv) accidental.
(f) “I want you to speak the truth.”— This sentence, in moral language is called
(i) Prescriptive sentence (i) Descriptive sentence
(iii) Emotive sentence (iv) Naturalistic sentence.
(2) Who admits the immortality of soul?
(i) Kant (i) Ayer
(iii) Hare (iv) Moore.
(h) What is the name of the ethical doctrine of Hare?
(1) Imtuitionism (i} Prescriptivism
(i) Eudaemonism (iv) Utilitarianism.
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(1) The object of moral judgement according to virtue ethics is
(1) teleological actions (i) actions determined by duty
(i) good character traits (iv) None of these.
() “Ethical statement is emotive.”— Whose view is it?
() Ayer (i) Moore
(i) Hare (iv) Aristotle.
(k) Which of the following has a moral value?
(1) Money (i) poetry
(iif) pleasure (iv) Keeping promise.
() A representative of Emotive theory is
(i) Ayer (i) Hare
(i) Mill (iv) Kant.

2. Answer in brief (any five) : 5%3
(a) What do you mean by metaethics? .
(b) In what sense is freedom of will considered to be a postulate of morality?
(c) Is honesty the best policy in Kantian interpretation? — Discuss.

(d) Explain Plato’s view regarding virtue,

(e) What are the main tenets of intuitionism?

(f) Discuss the nature of moral scepticism.

(8) What is naturalistic fallacy?

(h) Are moral propositions purely descriptive? — Discuss.

3. Answer any two questions :

(a)

(b)
(c)

(d)

Explain and examine the following statements :
() The language of Ethics is emotive.

(i) The language of Ethics is prescriptive. 8+7
What are the postulates of morality? Why does Kant consider the existence of God as a
postulate of morality? 5+10
What are the different kinds of virtue admitted by Aristotle? How does he relate the division
of virtue to the division of human soul? Discuss. 3+12
What is value? Is value subjective or objective? Discuss critically. 3+12
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